Q.3 A cell consisting of three machines makes a family of parts. There are four parts in the family, and the set-up time to change from part to part is essentially zero. Each part has the same routing through the cell (assume A → B → C). Demand for each part is the same, so it is desired to use a cyclic schedule; that is, repeat the schedule for the four parts all day. The matrix of processing times for the four parts on the three machines is given below. What schedule would you recommend to have as many cycles as possible, i.e., to maximize the number of parts produced in an eight-hour shift?




     Machines


Part

A
B
C


1

5
7
12


2

4
3
8


3

9
6
7


4

7
5
11

